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NEW QUESTION 1
- (Topic 1)
Your team Is excited about the use of AWS because now they have access to programmable Infrastructure" You have been asked to manage your AWS
infrastructure In a manner similar to the way you might manage application code You want to be able to deploy exact copies of different versions of your
infrastructure, stage changes into different environments, revert back to previous versions, and identify what versions are running at any particular time
(development test QA. production).
Which approach addresses this requirement? 

A. Use cost allocation reports and AWS Opsworks to deploy and manage your infrastructur
B. Use AWS CloudWatch metrics and alerts along with resource tagging to deploy and manage your infrastructur
C. Use AWS Beanstalk and a version control system like GIT to deploy and manage your infrastructur
D. Use AWS CloudFormation and a version control system like GIT to deploy and manage your infrastructur

Answer: B

Explanation: 
 Reference:
http://aws.amazon.com/opsworks/faqs/ 

NEW QUESTION 2
- (Topic 1)
You are tasked with setting up a cluster of EC2 Instances for a NoSQL database. The database requires random read IO disk performance up to a 100,000 IOPS
at 4KB block side per node.
Which of the following EC2 instances will perform the best for this workload? 

A. A High-Memory Quadruple Extra Large (m2.4xlarge) with EBS-Optimized set to true and a PIOPs EBS volume
B. A Cluster Compute Eight Extra Large (cc2.8xlarge) using instance storage
C. High I/O Quadruple Extra Large (hi1.4xlarge) using instance storage
D. A Cluster GPU Quadruple Extra Large (cg1.4xlarge) using four separate 4000 PIOPS EBS volumes in a RAID 0 configuration

Answer: C

Explanation: 
 Explanation: Reference:
http://aws.amazon.com/ec2/instance-types/ 

NEW QUESTION 3
- (Topic 1)
Which of the following statements about this S3 bucket policy is true?

A. Denies the server with the IP address 192 168 100 0 full access to the "mybucket" bucket
B. Denies the server with the IP address 192 168 100 188 full access to the "mybucket" bucket
C. Grants all the servers within the 192 168 100 0/24 subnet full access to the "mybucket" bucket
D. Grants all the servers within the 192 168 100 188/32 subnet full access to the "mybucket" bucket

Answer: B

NEW QUESTION 4
- (Topic 1)
You are designing a system that has a Bastion host. This component needs to be highly available without human intervention.
Which of the following approaches would you select? 

A. Run the bastion on two instances one in each AZ
B. Run the bastion on an active Instance in one AZ and have an AMI ready to boot up in the event of failure
C. Configure the bastion instance in an Auto Scaling group Specify the Auto Scaling group to include multiple AZs but have a min-size of 1 and max-size of 1
D. Configure an ELB in front of the bastion instance

Answer: C

NEW QUESTION 5
- (Topic 1)
When assessing an organization s use of AWS API access credentials which of the following three credentials should be evaluated?
Choose 3 answers 

A. Key pairs
B. Console passwords
C. Access keys
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D. Signing certificates
E. Security Group memberships

Answer: ACD

Explanation: 
 Reference:
http://media.amazonwebservices.com/AWS_Operational_Checklists.pdf 

NEW QUESTION 6
- (Topic 1)
What is a placement group? 

A. A collection of Auto Scaling groups in the same Region
B. Feature that enables EC2 instances to interact with each other via nigh bandwidth, low latency connections
C. A collection of Elastic Load Balancers in the same Region or Availability Zone
D. A collection of authorized Cloud Front edge locations for a distribution

Answer: B

Explanation: 
 Reference:
http://aws.amazon.com/ec2/faqs/ 

NEW QUESTION 7
- (Topic 1)
Which of the following requires a custom CloudWatch metric to monitor? 

A. Data transfer of an EC2 instance
B. Disk usage activity of an EC2 instance
C. Memory Utilization of an EC2 instance
D. CPU Utilization of an EC2 instance

Answer: C

Explanation: 
 Reference:
http://aws.amazon.com/cloudwatch/ 

NEW QUESTION 8
- (Topic 1)
Your organization's security policy requires that all privileged users either use frequently rotated passwords or one-time access credentials in addition to
username/password.
Which two of the following options would allow an organization to enforce this policy for AWS users?
Choose 2 answers 

A. Configure multi-factor authentication for privileged 1AM users
B. Create 1AM users for privileged accounts
C. Implement identity federation between your organization's Identity provider leveraging the 1AM Security Token Service
D. Enable the 1AM single-use password policy option for privileged users

Answer: CD

NEW QUESTION 9
- (Topic 1)
Your application currently leverages AWS Auto Scaling to grow and shrink as load Increases/ decreases and has been performing well Your marketing team
expects a steady ramp up in traffic to follow an upcoming campaign that will result in a 20x growth in traffic over 4 weeks Your forecast for the approximate number
of Amazon EC2 instances necessary to meet the peak demand is 175.
What should you do to avoid potential service disruptions during the ramp up in traffic? 

A. Ensure that you have pre-allocated 175 Elastic IP addresses so that each server will be able to obtain one as it launches
B. Check the service limits in Trusted Advisor and adjust as necessary so the forecasted count remains within limit
C. Change your Auto Scaling configuration to set a desired capacity of 175 prior to the launch of the marketing campaign
D. Pre-warm your Elastic Load Balancer to match the requests per second anticipated during peak demand prior to the marketing campaign

Answer: D

NEW QUESTION 10
- (Topic 1)
You are using ElastiCache Memcached to store session state and cache database queries in your infrastructure. You notice in CloudWatch that Evictions and
GetMisses are Doth very high.
What two actions could you take to rectify this?
Choose 2 answers 

A. Increase the number of nodes in your cluster
B. Tweak the max_item_size parameter
C. Shrink the number of nodes in your cluster
D. Increase the size of the nodes in the duster
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Answer: BD

NEW QUESTION 10
- (Topic 1)
Which services allow the customer to retain full administrative privileges of the underlying EC2 instances?
Choose 2 answers 

A. Amazon Elastic Map Reduce
B. Elastic Load Balancing
C. AWS Elastic Beanstalk
D. Amazon Elasticache
E. Amazon Relational Database service

Answer: AC

NEW QUESTION 12
- (Topic 1)
You have been asked to propose a multi-region deployment of a web-facing application where a controlled portion of your traffic is being processed by an alternate
region.
Which configuration would achieve that goal? 

A. Route53 record sets with weighted routing policy
B. Route53 record sets with latency based routing policy
C. Auto Scaling with scheduled scaling actions set
D. Elastic Load Balancing with health checks enabled

Answer: D

Explanation: 
 Reference:
http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/TerminologyandKeyConcepts.html 

NEW QUESTION 17
- (Topic 2)
A user is trying to understand the ACL and policy for an S3 bucket. Which of the below mentioned policy
permissions is equivalent to the WRITE ACL on a bucket? 

A. s3:GetObjectAcl
B. s3:GetObjectVersion
C. s3:ListBucketVersions
D. s3:DeleteObject

Answer: D

Explanation: 

Amazon S3 provides a set of operations to work with the Amazon S3 resources. Each AWS S3 bucket can have an ACL (Access Control List. or bucket policy
associated with it. The WRITE ACL list allows the other AWS accounts to write/modify to that bucket. The equivalent S3 bucket policy permission for it is
s3:DeleteObject. 

NEW QUESTION 21
- (Topic 2)
An application is generating a log file every 5 minutes. The log file is not critical but may be required only for verification in case of some major issue. The file
should be accessible over the internet whenever required. Which of the below mentioned options is a best possible storage solution for it? 

A. AWS S3
B. AWS Glacier
C. AWS RDS
D. AWS RRS

Answer: D

Explanation: 

Amazon S3 stores objects according to their storage class. There are three major storage classes: Standard, Reduced Redundancy Storage and Glacier. Standard
is for AWS S3 and provides very high durability. However, the costs are a little higher. Glacier is for archival and the files are not available over the internet.
Reduced Redundancy Storage is for less critical files. Reduced Redundancy is little cheaper as it provides less durability in comparison to S3. In this case since
the log files are not mission critical files, RRS will be a better option. 

NEW QUESTION 23
- (Topic 2)
A user is planning to use AWS Cloudformation. Which of the below mentioned functionalities does not help him to correctly understand Cloudfromation? 

A. Cloudformation follows the DevOps model for the creation of Dev & Test
B. AWS Cloudfromation does not charge the user for its service but only charges for the AWS resources created with it
C. Cloudformation works with a wide variety of AWS services, such as EC2, EBS, VPC, IAM, S3, RDS, ELB, etc
D. CloudFormation provides a set of application bootstrapping scripts which enables the user to install Software
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Answer: A

Explanation: 

AWS Cloudformation is an application management tool which provides application modelling, deployment, configuration, management and related activities. It
supports a wide variety of AWS services, such as EC2, EBS, AS, ELB, RDS, VPC, etc. It also provides application bootstrapping scripts which enable the user to
install software packages or create folders. It is free of the cost and only charges the user for the services created with it. The only challenge is that it does not
follow any model, such as DevOps; instead customers can define templates and use them to provision and manage the AWS resources in an orderly way. 

NEW QUESTION 24
- (Topic 2)
A user wants to disable connection draining on an existing ELB. Which of the below mentioned statements helps the user disable connection draining on the ELB? 

A. The user can only disable connection draining from CLI
B. It is not possible to disable the connection draining feature once enabled
C. The user can disable the connection draining feature from EC2 -> ELB console or from CLI
D. The user needs to stop all instances before disabling connection draining

Answer: C

Explanation: 

The Elastic Load Balancer connection draining feature causes the load balancer to stop sending new requests to the back-end instances when the instances are
deregistering or become unhealthy, while ensuring that inflight requests continue to be served. The user can enable or disable connection draining from the AWS
EC2 console -> ELB or using CLI. 

NEW QUESTION 29
- (Topic 2)
A system admin is managing buckets, objects and folders with AWS S3. Which of the below mentioned statements is true and should be taken in consideration by
the sysadmin? 

A. The folders support only ACL
B. Both the object and bucket can have an Access Policy but folder cannot have policy
C. Folders can have a policy
D. Both the object and bucket can have ACL but folders cannot have ACL

Answer: A

Explanation: 

A sysadmin can grant permission to the S3 objects or the buckets to any user or make objects public using the bucket policy and user policy. Both use the JSON-
based access policy language. Generally if user is defining the ACL on the bucket, the objects in the bucket do not inherit it and vice a versa. The bucket policy
can be defined at the bucket level which allows the objects as well as the bucket to be public with a single policy applied to that bucket. It cannot be applied at the
object level. The folders are similar to objects with no content. Thus, folders can have only ACL and cannot have a policy. 

NEW QUESTION 34
- (Topic 2)
A sys admin is maintaining an application on AWS. The application is installed on EC2 and user has configured ELB and Auto Scaling. Considering future load
increase, the user is planning to launch new servers proactively so that they get registered with ELB. How can the user add these instances with Auto Scaling? 

A. Increase the desired capacity of the Auto Scaling group
B. Increase the maximum limit of the Auto Scaling group
C. Launch an instance manually and register it with ELB on the fly
D. Decrease the minimum limit of the Auto Scaling grou

Answer: A

Explanation: 

A user can increase the desired capacity of the Auto Scaling group and Auto Scaling will launch a new instance as per the new capacity. The newly launched
instances will be registered with ELB if Auto Scaling group is configured with ELB. If the user decreases the minimum size the instances will be removed from Auto
Scaling. Increasing the maximum size will not add instances but only set the maximum instance cap. 

NEW QUESTION 37
- (Topic 2)
A user has created a photo editing software and hosted it on EC2. The software accepts requests from the user about the photo format and resolution and sends a
message to S3 to enhance the picture accordingly.Which of the below mentioned AWS services will help make a scalable software with the AWS infrastructure in
this scenario? 

A. AWS Glacier
B. AWS Elastic Transcoder
C. AWS Simple Notification Service
D. AWS Simple Queue Service

Answer: D

Explanation: 
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Amazon Simple Queue Service (SQS. is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. The user can configure SQS, which will decouple the call between the EC2 application and S3. Thus, the application
does not keep waiting for S3 to provide the data. 

NEW QUESTION 41
- (Topic 2)
A user has setup a billing alarm using CloudWatch for $200. The usage of AWS exceeded $200 after some days. The user wants to increase the limit from $200 to
$400? What should the user do? 

A. Create a new alarm of $400 and link it with the first alarm
B. It is not possible to modify the alarm once it has crossed the usage limit
C. Update the alarm to set the limit at $400 instead of $200
D. Create a new alarm for the additional $200 amount

Answer: C

Explanation: 

AWS CloudWatch supports enabling the billing alarm on the total AWS charges. The estimated charges are calculated and sent several times daily to CloudWatch
in the form of metric data. This data will be stored for 14 days. This data also includes the estimated charges for every service in AWS used by the user, as well as
the estimated overall AWS charges. If the user wants to increase the limit, the user can modify the alarm and specify a new threshold. 

NEW QUESTION 42
- (Topic 2)
An organization is planning to use AWS for 5 different departments. The finance department is responsible to pay for all the accounts. However, they want the cost
separation for each account to map with the right cost centre. How can the finance department achieve this? 

A. Create 5 separate accounts and make them a part of one consolidate billing
B. Create 5 separate accounts and use the IAM cross account access with the roles for better management
C. Create 5 separate IAM users and set a different policy for their access
D. Create 5 separate IAM groups and add users as per the department’s employees

Answer: A

Explanation: 

AWS consolidated billing enables the organization to consolidate payments for multiple Amazon Web Services (AWS. accounts within a single organization by
making a single paying account. Consolidated billing enables the organization to see a combined view of the AWS charges incurred by each account as well as
obtain a detailed cost report for each of the individual AWS accounts associated with the paying account. 

NEW QUESTION 46
- (Topic 2)
An organization is planning to use AWS for their production roll out. The organization wants to implement
automation for deployment such that it will automatically create a LAMP stack, download the latest PHP
installable from S3 and setup the ELB. Which of the below mentioned AWS services meets the quirement for making an orderly deployment of the software? 

A. AWS Elastic Beanstalk
B. AWS Cloudfront
C. AWS Cloudformation
D. AWS DevOps

Answer: C

Explanation: 

AWS Cloudformation is an application management tool which provides application modelling, deployment, configuration, management and related activities.
Cloudformation provides an easy way to create and delete the collection of related AWS resources and provision them in an orderly way. AWS CloudFormation
automates and simplifies the task of repeatedly and predictably creating groups of related resources that power the user’s applications. AWS Cloudfront is a CDN;
Elastic Beanstalk does quite a few of the required tasks. However, it is a PAAS which uses a ready AMI. AWS Elastic Beanstalk provides an environment to easily
develop and run applications in the cloud. 

NEW QUESTION 50
- (Topic 2)
A user is running one instance for only 3 hours every day. The user wants to save some cost with the instance. Which of the below mentioned Reserved Instance
categories is advised in this case? 

A. The user should not use RI; instead only go with the on-demand pricing
B. The user should use the AWS high utilized RI
C. The user should use the AWS medium utilized RI
D. The user should use the AWS low utilized RI

Answer: A

Explanation: 

The AWS Reserved Instance provides the user with an option to save some money by paying a one-time fixed amount and then save on the hourly rate. It is
advisable that if the user is having 30% or more usage of an instance per day, he should go for a RI. If the user is going to use an EC2 instance for more than
2200-2500 hours per year, RI will help the user save some cost. Here, the instance is not going to run for less than 1500 hours. Thus, it is advisable that the user
should use the on-demand pricing. 
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NEW QUESTION 53
- (Topic 2)
A user has created a VPC with CIDR 20.0.0.0/24. The user has created a public subnet with CIDR 20.0.0.0/25. The user is trying to create the private subnet with
CIDR 20.0.0.128/25. Which of the below mentioned statements is true in this scenario? 

A. It will not allow the user to create the private subnet due to a CIDR overlap
B. It will allow the user to create a private subnet with CIDR as 20.0.0.128/25
C. This statement is wrong as AWS does not allow CIDR 20.0.0.0/25
D. It will not allow the user to create a private subnet due to a wrong CIDR range

Answer: B

Explanation: 

When the user creates a subnet in VPC, he specifies the CIDR block for the subnet. The CIDR block of a subnet can be the same as the CIDR block for the VPC
(for a single subnet in the VPC., or a subset (to enable multiple subnets.. If the user creates more than one subnet in a VPC, the CIDR blocks of the subnets must
not overlap. Thus, in this case the user has created a VPC with the CIDR block 20.0.0.0/24, which supports 256 IP addresses (20.0.0.0 to 20.0.0.255.. The user
can break this CIDR block into two subnets, each supporting 128 IP addresses. One subnet uses the CIDR block 20.0.0.0/25 (for addresses 20.0.0.0 - 20.0.0.127.
and the other uses the CIDR block 20.0.0.128/25 (for addresses 20.0.0.128 - 20.0.0.255.. 

NEW QUESTION 55
- (Topic 2)
A user has created an S3 bucket which is not publicly accessible. The bucket is having thirty objects which are also private. If the user wants to make the objects
public, how can he configure this with minimal efforts? 

A. The user should select all objects from the console and apply a single policy to mark them public
B. The user can write a program which programmatically makes all objects public using S3 SDK
C. Set the AWS bucket policy which marks all objects as public
D. Make the bucket ACL as public so it will also mark all objects as public

Answer: C

Explanation: 

A system admin can grant permission of the S3 objects or buckets to any user or make the objects public using the bucket policy and user policy. Both use the
JSON-based access policy language. Generally if the user is defining the ACL on the bucket, the objects in the bucket do not inherit it and vice a versa. The bucket
policy can be defined at the bucket level which allows the objects as well as the bucket to be public with a single policy applied to that bucket. 

NEW QUESTION 56
- (Topic 2)
A customer is using AWS for Dev and Test. The customer wants to setup the Dev environment with
Cloudformation. Which of the below mentioned steps are not required while using Cloudformation? 

A. Create a stack
B. Configure a service
C. Create and upload the template
D. Provide the parameters configured as part of the template

Answer: B

Explanation: 

AWS Cloudformation is an application management tool which provides application modelling, deployment, configuration, management and related activities. AWS
CloudFormation introduces two concepts: the template and the stack. The template is a JSON-format, text-based file that describes all the AWS resources
required to deploy and run an application. The stack is a collection of AWS resources which are created and managed as a single unit when AWS CloudFormation
instantiates a template. While creating a stack, the user uploads the template and provides the data for the parameters if required. 

NEW QUESTION 60
- (Topic 2)
A user has configured ELB with three instances. The user wants to achieve High Availability as well as
redundancy with ELB. Which of the below mentioned AWS services helps the user achieve this for ELB? 

A. Route 53
B. AWS Mechanical Turk
C. Auto Scaling
D. AWS EMR

Answer: A

Explanation: 

The user can provide high availability and redundancy for applications running behind Elastic Load Balancer by enabling the Amazon Route 53 Domain Name
System (DNS. failover for the load balancers. Amazon Route 53 is a DNS service that provides reliable routing to the user’s infrastructure. 

NEW QUESTION 63
- (Topic 2)
An organization is setting up programmatic billing access for their AWS account. Which of
the below mentioned services is not required or enabled when the organization wants to use programmatic access? 
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A. Programmatic access
B. AWS bucket to hold the billing report
C. AWS billing alerts
D. Monthly Billing report

Answer: C

Explanation: 

AWS provides an option to have programmatic access to billing. Programmatic Billing Access leverages the existing Amazon Simple Storage Service (Amazon S3.
APIs. Thus, the user can build applications that reference his billing data from a CSV (comma-separated value. file stored in an Amazon S3 bucket. To enable
programmatic access, the user has to first enable the monthly billing report. Then the user needs to provide an AWS bucket name where the billing CSV will be
uploaded. The user should also enable the Programmatic access option. 

NEW QUESTION 67
- (Topic 2)
A user has stored data on an encrypted EBS volume. The user wants to share the data with his friend’s AWS account. How can user achieve this? 

A. Create an AMI from the volume and share the AMI
B. Copy the data to an unencrypted volume and then share
C. Take a snapshot and share the snapshot with a friend
D. If both the accounts are using the same encryption key then the user can share the volume directly

Answer: B

Explanation: 

AWS EBS supports encryption of the volume. It also supports creating volumes from existing snapshots
provided the snapshots are created from encrypted volumes. If the user is having data on an encrypted volume and is trying to share it with others, he has to copy
the data from the encrypted volume to a new unencrypted volume. Only then can the user share it as an encrypted volume data. Otherwise the snapshot cannot
be shared. 

NEW QUESTION 68
- (Topic 2)
A user has created a web application with Auto Scaling. The user is regularly monitoring the application and he observed that the traffic is highest on Thursday and
Friday between 8 AM to 6 PM. What is the best solution to handle scaling in this case? 

A. Add a new instance manually by 8 AM Thursday and terminate the same by 6 PM Friday
B. Schedule Auto Scaling to scale up by 8 AM Thursday and scale down after 6 PM on Friday
C. Schedule a policy which may scale up every day at 8 AM and scales down by 6 PM
D. Configure a batch process to add a instance by 8 AM and remove it by Friday 6 PM

Answer: B

Explanation: 

Auto Scaling based on a schedule allows the user to scale the application in response to predictable load changes. In this case the load increases by Thursday
and decreases by Friday. Thus, the user can setup the scaling activity based on the predictable traffic patterns of the web application using Auto Scaling scale by
Schedule. 

NEW QUESTION 72
- (Topic 2)
An organization has added 3 of his AWS accounts to consolidated billing. One of the AWS accounts has
purchased a Reserved Instance (RI. of a small instance size in the US-East-1a zone. All other AWS accounts are running instances of a small size in the same
zone. What will happen in this case for the RI pricing? 

A. Only the account that has purchased the RI will get the advantage of RI pricing
B. One instance of a small size and running in the US-East-1a zone of each AWS account will get the benefit of RI pricing
C. Any single instance from all the three accounts can get the benefit of AWS RI pricing if they are running in the same zone and are of the same size
D. If there are more than one instances of a small size running across multiple accounts in the same zone no one will get the benefit of RI

Answer: C

Explanation: 

AWS consolidated billing enables the organization to consolidate payments for multiple Amazon Web Services (AWS. accounts within a single organization by
making a single paying account. For billing purposes, consolidated billing treats all the accounts on the consolidated bill as one account. This means that all
accounts on a consolidated bill can receive the hourly cost benefit of the Amazon EC2 Reserved Instances purchased by any other account. In this case only one
Reserved Instance has been purchased by one account. Thus, only a single instance from any of the accounts will get the advantage of RI. AWS will implement
the blended rate for each instance if more than one instance is running concurrently. 

NEW QUESTION 73
- (Topic 2)
A user has enabled detailed CloudWatch metric monitoring on an Auto Scaling group. Which of the below
mentioned metrics will help the user identify the total number of instances in an Auto Scaling group cluding pending, terminating and running instances? 

A. GroupTotalInstances
B. GroupSumInstances
C. It is not possible to get a count of all the three metrics togethe
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D. The user has to find the individual number of running, terminating and pending instances and sum it
E. GroupInstancesCount

Answer: A

Explanation: 

CloudWatch is used to monitor AWS as well as the custom services. For Auto Scaling, CloudWatch provides various metrics to get the group information, such as
the Number of Pending, Running or Terminating instances at any moment. If the user wants to get the total number of Running, Pending and Terminating
instances at any moment, he can use the GroupTotalInstances metric. 

NEW QUESTION 77
- (Topic 2)
An organization (Account ID 123412341234. has attached the below mentioned IAM policy
to a user. What does this policy statement entitle the user to perform?
"Statement": [
{
"Sid": "AllowUsersAllActionsForCredentials",
"Effect": "Allow",
"Action": [
"iam:*AccessKey*",
],
"Resource": ["arn:aws:iam:: 123412341234:user/${aws:username}"]
}
] 

A. 0
B. 0
C. 0
D. 0

Answer: A

Explanation: 

AWS Identity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. If the
organization (Account ID 123412341234. wants some of their users to manage keys (access and secret access keys. of all IAM users, the organization should set
the below mentioned policy which entitles the IAM user to modify keys of all IAM users with CLI, SDK or API.
"Statement": [
{
"Sid": "AllowUsersAllActionsForCredentials",
"Effect": "Allow",
"Action": [
"iam:*AccessKey*",
],
"Resource": ["arn:aws:iam:: 123412341234:user/${aws:username}"]
}
] 

NEW QUESTION 78
- (Topic 2)
A user has created numerous EBS volumes. What is the general limit for each AWS account for the maximum number of EBS volumes that can be created? 

A. 10000
B. 5000
C. 100
D. 1000

Answer: B

Explanation: 

A user can attach multiple EBS volumes to the same instance within the limits specified by his AWS account. Each AWS account has a limit on the number of
Amazon EBS volumes that the user can create, and the total storage available. The default limit for the maximum number of volumes that can be created is 5000. 

NEW QUESTION 81
- (Topic 2)
A user is launching an EC2 instance in the US East region. Which of the below mentioned options is
recommended by AWS with respect to the selection of the availability zone? 

A. Always select the US-East-1-a zone for HA
B. Do not select the AZ; instead let AWS select the AZ
C. The user can never select the availability zone while launching an instance
D. Always select the AZ while launching an instance

Answer: B

Explanation: 

When launching an instance with EC2, AWS recommends not to select the availability zone (AZ.. AWS
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specifies that the default Availability Zone should be accepted. This is because it enables AWS to select the best Availability Zone based on the system health and
available capacity. If the user launches additional instances, only then an Availability Zone should be specified. This is to specify the same or different AZ from the
running instances. 

NEW QUESTION 82
- (Topic 2)
An organization is using AWS since a few months. The finance team wants to visualize the pattern of AWS spending. Which of the below AWS tool will help for this
requirement? 

A. AWS Cost Manager
B. AWS Cost Explorer
C. AWS CloudWatch
D. AWS Consolidated Billing

Answer: B

Explanation: 

The AWS Billing and Cost Management console includes the Cost Explorer tool for viewing AWS cost data as a graph. It does not charge extra to user for this
service. With Cost Explorer the user can filter graphs using resource tags or with services in AWS. If the organization is using Consolidated Billing it helps generate
report based on linked accounts. This will help organization to identify areas that require further inquiry. The organization can view trends and use that to
understand spend and to predict future costs. 

NEW QUESTION 84
- (Topic 2)
A user has a refrigerator plant. The user is measuring the temperature of the plant every 15 minutes. If the user wants to send the data to CloudWatch to view the
data visually, which of the below mentioned statements is true with respect to the information given above? 

A. The user needs to use AWS CLI or API to upload the data
B. The user can use the AWS Import Export facility to import data to CloudWatch
C. The user will upload data from the AWS console
D. The user cannot upload data to CloudWatch since it is not an AWS service metric

Answer: A

Explanation: 

AWS CloudWatch supports the custom metrics. The user can always capture the custom data and upload the data to CloudWatch using CLI or APIs. While
sending the data the user has to include the metric name, namespace and timezone as part of the request. 

NEW QUESTION 88
- (Topic 2)
A user has recently started using EC2. The user launched one EC2 instance in the default subnet in EC2-VPC Which of the below mentioned options is not
attached or available with the EC2 instance when it is launched? 

A. Public IP address
B. Internet gateway
C. Elastic IP
D. Private IP address

Answer: C

Explanation: 

A Virtual Private Cloud (VPC. is a virtual network dedicated to a user’s AWS account. A subnet is a range of IP addresses in the VPC. The user can launch the
AWS resources into a subnet. There are two supported platforms into which a user can launch instances: EC2-Classic and EC2-VPC (default subnet.. A default
VPC has all the benefits of EC2-VPC and the ease of use of EC2-Classic. Each instance that the user launches into a default subnet has a private IP address and
a public IP address. These instances can communicate with the internet through an internet gateway. An internet gateway enables the EC2 instances to connect to
the internet through the Amazon EC2 network edge. 

NEW QUESTION 90
- (Topic 2)
A user has setup an RDS DB with Oracle. The user wants to get notifications when someone modifies the
security group of that DB. How can the user configure that? 

A. It is not possible to get the notifications on a change in the security group
B. Configure SNS to monitor security group changes
C. Configure event notification on the DB security group
D. Configure the CloudWatch alarm on the DB for a change in the security group

Answer: C

Explanation: 

Amazon RDS uses the Amazon Simple Notification Service to provide a notification when an Amazon RDS event occurs. These events can be configured for
source categories, such as DB instance, DB security group, DB snapshot and DB parameter group. If the user is subscribed to a Configuration Change category
for a DB security group, he will be notified when the DB security group is changed. 
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NEW QUESTION 92
- (Topic 2)
A user is publishing custom metrics to CloudWatch. Which of the below mentioned statements will help the user understand the functionality better? 

A. The user can use the CloudWatch Import tool
B. The user should be able to see the data in the console after around 15 minutes
C. If the user is uploading the custom data, the user must supply the namespace, timezone, and metric name as part of the command
D. The user can view as well as upload data using the console, CLI and APIs

Answer: B

Explanation: 

AWS CloudWatch supports the custom metrics. The user can always capture the custom data and upload the data to CloudWatch using CLI or APIs. The user has
to always include the namespace as a part of the request. However, the other parameters are optional. If the user has uploaded data using CLI, he can view it as a
graph inside the console. The data will take around 2 minutes to upload but can be viewed only after around 15 minutes. 

NEW QUESTION 95
- (Topic 2)
You are building an online store on AWS that uses SQS to process your customer orders. Your backend system needs those messages in the same sequence the
customer orders have been put in. How can you achieve that? 

A. It is not possible to do this with SQS
B. You can use sequencing information on each message
C. You can do this with SQS but you also need to use SWF
D. Messages will arrive in the same order by default

Answer: B

Explanation: 

Amazon SQS is engineered to always be available and deliver messages. One of the resulting tradeoffs is that SQSdoes not guarantee first in, first out delivery of
messages. For many distributed applications, each message can stand on its own, and as long as all messages are delivered, the order is not important. If your
system requires that order be preserved, you can place sequencing information in each message, so that you can reorder the messages when the queue returns
them. 

NEW QUESTION 96
- (Topic 2)
A user has created a VPC with CIDR 20.0.0.0/24. The user has created a public subnet with CIDR 20.0.0.0/25 and a private subnet with CIDR 20.0.0.128/25. The
user has launched one instance each in the private and public subnets. Which of the below mentioned options cannot be the correct IP address (private IP.
assigned to an instance in the public or private subnet? 

A. 20.0.0.255
B. 20.0.0.132
C. 20.0.0.122
D. 20.0.0.55

Answer: A

Explanation: 

When the user creates a subnet in VPC, he specifies the CIDR block for the subnet. In this case the user has created a VPC with the CIDR block 20.0.0.0/24,
which supports 256 IP addresses (20.0.0.0 to 20.0.0.255.. The public subnet will have IP addresses between 20.0.0.0 - 20.0.0.127 and the private subnet will have
IP addresses between 20.0.0.128 -20.0.0.255. AWS reserves the first four IP addresses and the last IP address in each subnet’s CIDR block. These are not
available for the user to use. Thus, the instance cannot have an IP address of 20.0.0.255 

NEW QUESTION 97
- (Topic 3)
A user is trying to understand the detailed CloudWatch monitoring concept. Which of the below mentioned services does not provide detailed monitoring with
CloudWatch? 

A. AWS EMR
B. AWS RDS
C. AWS ELB
D. AWS Route53

Answer: A

Explanation: 

CloudWatch is used to monitor AWS as well as the custom services. It provides either basic or detailed monitoring for the supported AWS products. In basic
monitoring, a service sends data points to CloudWatch every five minutes, while in detailed monitoring a service sends data points to CloudWatch every minute.
Services, such as RDS, EC2, Auto Scaling, ELB, and Route 53 can provide the monitoring data every minute. 

NEW QUESTION 99
- (Topic 3)
A user has launched 5 instances in EC2-CLASSIC and attached 5 elastic IPs to the five different instances in the US East region. The user is creating a VPC in the
same region. The user wants to assign an elastic IP to the VPC instance. How can the user achieve this? 

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full AWS-SysOps dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/AWS-SysOps-exam-dumps.html (256 New Questions)

A. The user has to request AWS to increase the number of elastic IPs associated with the account
B. AWS allows 10 EC2 Classic IPs per region; so it will allow to allocate new Elastic IPs to the same region
C. The AWS will not allow to create a new elastic IP in VPC; it will throw an error
D. The user can allocate a new IP address in VPC as it has a different limit than EC2

Answer: D

Explanation: 
 Section: (none)
A Virtual Private Cloud (VPC. is a virtual network dedicated to the user’s AWS account. A user can create a subnet with VPC and launch instances inside that
subnet. A user can have 5 IP addresses per region with EC2 Classic. The user can have 5 separate IPs with VPC in the same region as it has a separate limit than
EC2 Classic. 

NEW QUESTION 100
- (Topic 3)
A user has launched an EC2 instance store backed instance in the US-East-1a zone. The user created AMI #1 and copied it to the Europe region. After that, the
user made a few updates to the application running in the US-East-1a zone. The user makes an AMI#2 after the changes. If the user launches a new instance in
Europe from the AMI #1 copy, which of the below mentioned statements is true? 

A. The new instance will have the changes made after the AMI copy as AWS just copies the reference of the original AMI during the copyin
B. Thus, the copied AMI will have all the updated data
C. The new instance will have the changes made after the AMI copy since AWS keeps updating the AMI
D. It is not possible to copy the instance store backed AMI from one region to another
E. The new instance in the EU region will not have the changes made after the AMI copy

Answer: D

Explanation: 

Within EC2, when the user copies an AMI, the new AMI is fully independent of the source AMI; there is no link to the original (source. AMI. The user can modify the
source AMI without affecting the new AMI and vice a versa. Therefore, in this case even if the source AMI is modified, the copied AMI of the EU region will not
have the changes. Thus, after copy the user needs to copy the new source AMI to the destination region to get those changes. 

NEW QUESTION 102
- (Topic 3)
An AWS account owner has setup multiple IAM users. One IAM user only has CloudWatch access. He has setup the alarm action which stops the EC2 instances
when the CPU utilization is below the threshold limit. What will happen in this case? 

A. It is not possible to stop the instance using the CloudWatch alarm
B. CloudWatch will stop the instance when the action is executed
C. The user cannot set an alarm on EC2 since he does not have the permission
D. The user can setup the action but it will not be executed if the user does not have EC2 rights

Answer: D

Explanation: 

Amazon CloudWatch alarms watch a single metric over a time period that the user specifies and performs one or more actions based on the value of the metric
relative to a given threshold over a number of time periods. The user can setup an action which stops the instances when their CPU utilization is below a certain
threshold for a certain period of time. The EC2 action can either terminate or stop the instance as part of the EC2 action. If the IAM user has read/write
permissions for Amazon CloudWatch but not for Amazon EC2, he can still create an alarm. However, the stop or terminate actions will not be performed on the
Amazon EC2 instance. 

NEW QUESTION 103
- (Topic 3)
A user has launched two EBS backed EC2 instances in the US-East-1a region. The user wants to change the zone of one of the instances. How can the user
change it? 

A. The zone can only be modified using the AWS CLI
B. It is not possible to change the zone of an instance after it is launched
C. Stop one of the instances and change the availability zone
D. From the AWS EC2 console, select the Actions - > Change zones and specify the new zone

Answer: B

Explanation: 

With AWS EC2, when a user is launching an instance he can select the availability zone (AZ. at the time of launch. If the zone is not selected, AWS selects it on
behalf of the user. Once the instance is launched, the user cannot change the zone of that instance unless he creates an AMI of that instance and launches a new
instance from it. 

NEW QUESTION 108
- (Topic 3)
A system admin wants to add more zones to the existing ELB. The system admin wants to perform this activity from CLI. Which of the below mentioned command
helps the system admin to add new zones to the existing ELB? 

A. elb-enable-zones-for-lb
B. elb-add-zones-for-lb
C. It is not possible to add more zones to the existing ELB
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D. elb-configure-zones-for-lb

Answer: A

Explanation: 

The user has created an Elastic Load Balancer with the availability zone and wants to add more zones to the existing ELB. The user can do so in two ways:
From the console or CLI, add new zones to ELB; 

NEW QUESTION 113
- (Topic 3)
A system admin is planning to encrypt all objects being uploaded to S3 from an application. The system admin does not want to implement his own encryption
algorithm; instead he is planning to use server side encryption by supplying his own key (SSE-C.. Which parameter is not required while making a call for SSE-C? 

A. x-amz-server-side-encryption-customer-key-AES-256
B. x-amz-server-side-encryption-customer-key
C. x-amz-server-side-encryption-customer-algorithm
D. x-amz-server-side-encryption-customer-key-MD5

Answer: A

Explanation: 

AWS S3 supports client side or server side encryption to encrypt all data at rest. The server side encryption can either have the S3 supplied AES-256 encryption
key or the user can send the key along with each API call to supply his own encryption key (SSE-C.. When the user is supplying his own encryption key, the user
has to send the below mentioned parameters as a part of the API calls: x-amz-server-side-encryption-customer-algorithm: Specifies the encryption algorithm x-amz-
server-side-encryption-customer-key: To provide the base64-encoded encryption key x-amz-server-side-encryption-customer-key-MD5: To provide the
base64-encoded 128-bit MD5 digest of the encryption key 

NEW QUESTION 118
- (Topic 3)
You have a business-to-business web application running in a VPC consisting of an Elastic Load Balancer (ELB), web servers, application servers and a database.
Your web application should only accept traffic from pre-defined customer IP addresses.
Which two options meet this security requirement? Choose 2 answers A. Configure web server VPC security groups to allow traffic from your customers' IPs 

A. Configure your web servers to filter traffic based on the ELB's "X-forwarded-for" header
B. Configure ELB security groups to allow traffic from your customers' IPs and deny all outbound traffic
C. Configure a VPC NACL to allow web traffic from your customers' IPs and deny all outbound traffic

Answer: AB

NEW QUESTION 120
- (Topic 3)
A user is using the AWS SQS to decouple the services. Which of the below mentioned operations is not
supported by SQS? 

A. SendMessageBatch
B. DeleteMessageBatch
C. CreateQueue
D. DeleteMessageQueue

Answer: D

Explanation: 

Amazon Simple Queue Service (SQS. is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. The user can perform the following set of operations using the Amazon SQS:
CreateQueue, ListQueues, DeleteQueue, SendMessage, SendMessageBatch,
ReceiveMessage, DeleteMessage, DeleteMessageBatch, ChangeMessageVisibility,
ChangeMessageVisibilityBatch, SetQueueAttributes, GetQueueAttributes, GetQueueUrl,
AddPermission and RemovePermission. Operations can be performed only by the AWS account owner or an AWS account that the account owner has delegated
to. 

NEW QUESTION 125
- (Topic 3)
A user has enabled detailed CloudWatch monitoring with the AWS Simple Notification Service. Which of the below mentioned statements helps the user
understand detailed monitoring better? 

A. SNS will send data every minute after configuration
B. There is no need to enable since SNS provides data every minute
C. AWS CloudWatch does not support monitoring for SNS
D. SNS cannot provide data every minute

Answer: D

Explanation: 

CloudWatch is used to monitor AWS as well as the custom services. It provides either basic or detailed monitoring for the supported AWS products. In basic
monitoring, a service sends data points to CloudWatch every five minutes, while in detailed monitoring a service sends data points to CloudWatch every minute.
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The AWS SNS service sends data every 5 minutes. Thus, it supports only the basic monitoring. The user cannot enable detailed monitoring with SNS. 

NEW QUESTION 126
- (Topic 3)
A user is having data generated randomly based on a certain event. The user wants to upload that data to CloudWatch. It may happen that event may not have
data generated for some period due to andomness. Which of the below mentioned options is a recommended option for this case? 

A. For the period when there is no data, the user should not send the data at all
B. For the period when there is no data the user should send a blank value
C. For the period when there is no data the user should send the value as 0
D. The user must upload the data to CloudWatch as having no data for some period will cause an error at CloudWatch monitoring

Answer: C

Explanation: 

AWS CloudWatch supports the custom metrics. The user can always capture the custom data and upload the data to CloudWatch using CLI or APIs. When the
user data is more random and not generated at regular intervals, there can be a period which has no associated data. The user can either publish the zero (0.
Value for that period or not publish the data at all. It is recommended that the user should publish zero instead of no value to monitor the health of the application.
This is helpful in an alarm as well as in the generation of the sample data count. 

NEW QUESTION 129
- (Topic 3)
A root account owner has given full access of his S3 bucket to one of the IAM users using the bucket ACL. When the IAM user logs in to the S3 console, which
actions can he perform? 

A. He can just view the content of the bucket
B. He can do all the operations on the bucket
C. It is not possible to give access to an IAM user using ACL
D. The IAM user can perform all operations on the bucket using only API/SDK

Answer: C

Explanation: 

Each AWS S3 bucket and object has an ACL (Access Control List. associated with it. An ACL is a list of grants identifying the grantee and the permission granted.
The user can use ACLs to grant basic read/write permissions to other AWS accounts. ACLs use an Amazon S3–specific XML schema. The user cannot grant
permissions to other users (IAM users. in his account. 

NEW QUESTION 133
- (Topic 3)
A user has configured ELB with Auto Scaling. The user suspended the Auto Scaling AlarmNotification (which notifies Auto Scaling for CloudWatch alarms. process
for a while. What will Auto Scaling do during this period? 

A. AWS will not receive the alarms from CloudWatch
B. AWS will receive the alarms but will not execute the Auto Scaling policy
C. Auto Scaling will execute the policy but it will not launch the instances until the process is resumed
D. It is not possible to suspend the AlarmNotification process

Answer: B

Explanation: 

Auto Scaling performs various processes, such as Launch, Terminate Alarm Notification etc. The user can also suspend individual process. The AlarmNotification
process type accepts notifications from the Amazon CloudWatch alarms that are associated with the Auto Scaling group. If the user suspends this process type,
Auto Scaling will not automatically execute the scaling policies that would be triggered by the alarms. 

NEW QUESTION 137
- (Topic 3)
George has shared an EC2 AMI created in the US East region from his AWS account with Stefano. George copies the same AMI to the US West region. Can
Stefano access the copied AMI of George’s account from the US West region? 

A. No, copy AMI does not copy the permission
B. It is not possible to share the AMI with a specific account
C. Yes, since copy AMI copies all private account sharing permissions
D. Yes, since copy AMI copies all the permissions attached with the AMI

Answer: A

Explanation: 

Within EC2, when the user copies an AMI, the new AMI is fully independent of the source AMI; there is no link to the original (source. AMI. AWS does not copy
launch the permissions, user-defined tags or the Amazon S3 bucket permissions from the source AMI to the new AMI. Thus, in this case by default Stefano will not
have access to the AMI in the US West region. 

NEW QUESTION 140
- (Topic 3)
An organization (Account ID 123412341234. has attached the below mentioned IAM policy to a user. What does this policy statement entitle the user to perform?
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{
"Version": "2012-10-17",
"Statement": [{
"Sid": "AllowUsersAllActionsForCredentials",
"Effect": "Allow",
"Action": [
"iam:*LoginProfile",
"iam:*AccessKey*",
"iam:*SigningCertificate*"
],
"Resource": ["arn:aws:iam:: 123412341234:user/${aws:username}"]
}]
} 

A. The policy allows the IAM user to modify all IAM user’s credentials using the console, SDK, CLI or APIs
B. The policy will give an invalid resource error
C. The policy allows the IAM user to modify all credentials using only the console
D. The policy allows the user to modify all IAM user’s password, sign in certificates and access keys using only CLI, SDK or APIs

Answer: D

Explanation: 

WS Identity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. If the
organization (Account ID 123412341234. wants some of their users to manage credentials (access keys, password, and sing in certificates. of all IAM users, they
should set an applicable policy to that user or group of users. The below mentioned policy allows the IAM user to modify the credentials of all IAM user’s using
only CLI, SDK or APIs. The user cannot use the AWS
console for this activity since he does not have list permission for the IAM users.
{
"Version": "2012-10-17",
"Statement": [{
"Sid": "AllowUsersAllActionsForCredentials",
"Effect": "Allow"
"Action": [
"iam:*LoginProfile",
"iam:*AccessKey*",
"iam:*SigningCertificate*"
],
"Resource": ["arn:aws:iam::123412341234:user/${aws:username}"]
Amazon AWS-SysOps : Practice Test
}] } 

NEW QUESTION 143
- (Topic 3)
A user is configuring a CloudWatch alarm on RDS to receive a notification when the CPU utilization of RDS is higher than 50%. The user has setup an alarm when
there is some inactivity on RDS, such as RDS unavailability. How can the user configure this? 

A. Setup the notification when the CPU is more than 75% on RDS
B. Setup the notification when the state is Insufficient Data
C. Setup the notification when the CPU utilization is less than 10%
D. It is not possible to setup the alarm on RDS

Answer: B

Explanation: 

Amazon CloudWatch alarms watch a single metric over a time period that the user specifies and performs one or more actions based on the value of the metric
relative to a given threshold over a number of time periods. The alarm has three states: Alarm, OK and Insufficient data. The Alarm will change to Insufficient Data
when any of the three situations arise: when the alarm has just started, when the metric is not available or when enough data is not available for the metric to
determine the alarm state. If the user wants to find that RDS is not available, he can setup to receive the notification when the state is in Insufficient data. 

NEW QUESTION 146
- (Topic 3)
A user is observing the EC2 CPU utilization metric on CloudWatch. The user has observed some interesting patterns while filtering over the 1 week period for a
particular hour. The user wants to zoom that data point to a more granular period. How can the user do that easily with CloudWatch? 

A. The user can zoom a particular period by selecting that period with the mouse and then releasing the mouse
B. The user can zoom a particular period by double clicking on that period with the mouse
C. The user can zoom a particular period by specifying the aggregation data for that period
D. The user can zoom a particular period by specifying the period in the Time Range

Answer: A

NEW QUESTION 149
- (Topic 3)
A user is trying to setup a security policy for ELB. The user wants ELB to meet the cipher supported by the client by configuring the server order preference in ELB
security policy. Which of the below mentioned
preconfigured policies supports this feature? 

A. ELBSecurity Policy-2014-01
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B. ELBSecurity Policy-2011-08
C. ELBDefault Negotiation Policy
D. ELBSample- OpenSSLDefault Cipher Policy

Answer: A

Explanation: 

Elastic Load Balancing uses a Secure Socket Layer (SSL. negotiation configuration which is known as a Security Policy. It is used to negotiate the SSL
connections between a client and the load balancer. If the load balancer is configured to support the Server Order Preference, then the load balancer gets to select
the first cipher in its list that matches any one of the ciphers in the client's list. When the user verifies the preconfigured policies supported by ELB, the policy
“ELBSecurity Policy-2014-01” supports server order preference. 

NEW QUESTION 152
- (Topic 3)
A user has launched an EBS backed EC2 instance in the US-East-1a region. The user stopped the instance and started it back after 20 days. AWS throws up an
‘InsufficientInstanceCapacity’ error. What can be the possible reason for this? 

A. AWS does not have sufficient capacity in that availability zone
B. AWS zone mapping is changed for that user account
C. There is some issue with the host capacity on which the instance is launched
D. The user account has reached the maximum EC2 instance limit

Answer: A

Explanation: 

When the user gets an ‘InsufficientInstanceCapacity’ error while launching or starting an EC2 instance, it means that AWS does not currently have enough
available capacity to service the user request. If the user is requesting a large number of instances, there might not be enough server capacity to host them. The
user can either try again later, by specifying a smaller number of instances or changing the availability zone if launching a fresh instance. 

NEW QUESTION 154
- (Topic 3)
You run a web application with the following components Elastic Load Balancer (EL8), 3 Web/Application servers, 1 MySQL RDS database with read replicas, and
Amazon Simple Storage Service (Amazon S3) for static content. Average response time for users is increasing slowly.
What three CloudWatch RDS metrics will allow you to identify if the database is the bottleneck? Choose 3 answers 

A. The number of outstanding IOs waiting to access the dis
B. The amount of write latenc
C. The amount of disk space occupied by binary logs on the maste
D. The amount of time a Read Replica DB Instance lags behind the source DB Instance
E. The average number of disk I/O operations per secon

Answer: ABD

NEW QUESTION 155
- (Topic 3)
An organization is planning to create a user with IAM. They are trying to understand the limitations of IAM so that they can plan accordingly. Which of the below
mentioned statements is not true with respect to the
limitations of IAM? 

A. One IAM user can be a part of a maximum of 5 groups
B. The organization can create 100 groups per AWS account
C. One AWS account can have a maximum of 5000 IAM users
D. One AWS account can have 250 roles

Answer: A

Explanation: 

AWS Identity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. The default
maximums for each of the IAM entities is given below: Groups per AWS account: 100 Users per AWS account: 5000 Roles per AWS account: 250 Number of
groups per user: 10 (that is, one user can be part of these many groups. 

NEW QUESTION 160
- (Topic 3)
How can you secure data at rest on an EBS volume? 

A. Encrypt the volume using the S3 server-side encryption servic
B. Attach the volume to an instance using EC2's SSL interfac
C. Create an IAM policy that restricts read and write access to the volum
D. Write the data randomly instead of sequentiall
E. Use an encrypted file system m top of the EBS volum

Answer: C

Explanation: 
 Reference:
http://docs.aws.amazon.com/IAM/latest/UserGuide/policies_examples.html 
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NEW QUESTION 161
- (Topic 3)
When you put objects in Amazon S3, what is the indication that an object was successfully stored? 

A. Each S3 account has a special bucket named_s3_log
B. Success codes are written to this bucket with a timestamp and checksu
C. A success code is inserted into the S3 object metadat
D. A HTTP 200 result code and MD5 checksum, taken together, indicate that the operation was successfu
E. Amazon S3 is engineered for 99.999999999% durabilit
F. Therefore there is no need to confirm that data was inserte

Answer: B

Explanation: 
 Reference:
http://docs.aws.amazon.com/AmazonS3/latest/API/RESTObjectPUT.html 

NEW QUESTION 166
- (Topic 3)
A user is trying to create an EBS volume with the highest PIOPS supported by EBS. What is the minimum size of EBS required to have the maximum IOPS? 

A. 124
B. 150
C. 134
D. 128

Answer: C

Explanation: 

A provisioned IOPS EBS volume can range in size from 10 GB to 1 TB and the user can provision up to 4000 IOPS per volume. The ratio of IOPS provisioned to
the volume size requested should be a maximum of 30. 

NEW QUESTION 169
- (Topic 3)
An organization has created 10 IAM users. The organization wants each of the IAM users to have access to a separate DyanmoDB table. All the users are added
to the same group and the organization wants to setup a group level policy for this. How can the organization achieve this? 

A. Define the group policy and add a condition which allows the access based on the IAM name
B. Create a DynamoDB table with the same name as the IAM user name and define the policy rule which grants access based on the DynamoDB ARN using a
variable
C. Create a separate DynamoDB database for each user and configure a policy in the group based on the DB variable
D. It is not possible to have a group level policy which allows different IAM users to different DynamoDB Tables

Answer: D

Explanation: 

AWS Identity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. AWS
DynamoDB has only tables and the organization cannot makeseparate databases. The organization should create a table with the same name as the IAM user
name and use the ARN of DynamoDB as part of the group policy. The sample policy is shown below:
{
"Version": "2012-10-17",
"Statement": [{
"Effect": "Allow",
"Action": ["dynamodb:*"],
"Resource": "arn:aws:dynamodb:region:account-number-without-hyphens:table/${aws:username}"
}
]
} 

NEW QUESTION 174
- (Topic 3)
Amazon EBS snapshots have which of the following two characteristics? (Choose 2.) Choose 2 answers 

A. EBS snapshots only save incremental changes from snapshot to snapshot
B. EBS snapshots can be created in real-time without stopping an EC2 instance
C. EBS snapshots can only be restored to an EBS volume of the same size or smaller
D. EBS snapshots can only be restored and mounted to an instance in the same Availability Zone as the original EBS volume

Answer: AD

NEW QUESTION 175
- (Topic 3)
A user has launched an EC2 instance from an instance store backed AMI. The infrastructure team wants to create an AMI from the running instance. Which of the
below mentioned credentials is not required while creating the AMI? 

A. AWS account ID
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B. X.509 certificate and private key
C. AWS login ID to login to the console
D. Access key and secret access key

Answer: C

Explanation: 

When the user has launched an EC2 instance from an instance store backed AMI and the admin team wants to create an AMI from it, the user needs to setup the
AWS AMI or the API tools first. Once the tool is setup the user will need the following credentials:
AWS account ID;
AWS access and secret access key;
X.509 certificate with private key. 

NEW QUESTION 178
- (Topic 3)
A user has created a mobile application which makes calls to DynamoDB to fetch certain data. The application is using the DynamoDB SDK and root account
access/secret access key to connect to DynamoDB from mobile. Which of the below mentioned statements is true with respect to the best practice for security in
this scenario? 

A. The user should create a separate IAM user for each mobile application and provide DynamoDB access with it
B. The user should create an IAM role with DynamoDB and EC2 acces
C. Attach the role with EC2 and route all calls from the mobile through EC2
D. The application should use an IAM role with web identity federation which validates calls to DynamoDB with identity providers, such as Google, Amazon, and
Facebook
E. Create an IAM Role with DynamoDB access and attach it with the mobile application

Answer: C

Explanation: 

With AWS IAM a user is creating an application which runs on an EC2 instance and makes requests to AWS, such as DynamoDB or S3 calls. Here it is
recommended that the user should not create an IAM user and pass the user's credentials to the application or embed those credentials inside the application. If
the user is creating an app that runs on a mobile phone and makes requests to AWS, the user should not create an IAMuser and distribute the user's access key
with the app. Instead, he should use an identity provider, such as Login with Amazon, Facebook, or Google to authenticate the users, and then use that identity to
get temporary security credentials. 

NEW QUESTION 179
- (Topic 3)
A user has provisioned 2000 IOPS to the EBS volume. The application hosted on that EBS is experiencing less IOPS than provisioned. Which of the below
mentioned options does not affect the IOPS of the volume? 

A. The application does not have enough IO for the volume
B. The instance is EBS optimized
C. The EC2 instance has 10 Gigabit Network connectivity
D. The volume size is too large

Answer: D

Explanation: 

When the application does not experience the expected IOPS or throughput of the PIOPS EBS volume that was provisioned, the possible root cause could be that
the EC2 bandwidth is the limiting factor and the instance might not be either EBS-optimized or might not have 10 Gigabit network connectivity. Another possible
cause for not experiencing the expected IOPS could also be that the user is not driving enough I/O to the EBS volumes. The size of the volume may not affect
IOPS. 

NEW QUESTION 182
- (Topic 3)
A user is trying to send custom metrics to CloudWatch using the PutMetricData APIs. Which of the below
mentioned points should the user needs to take care while sending the data to CloudWatch? 

A. The size of a request is limited to 8KB for HTTP GET requests and 40KB for HTTP POST requests
B. The size of a request is limited to 128KB for HTTP GET requests and 64KB for HTTP POST requests
C. The size of a request is limited to 40KB for HTTP GET requests and 8KB for HTTP POST requests
D. The size of a request is limited to 16KB for HTTP GET requests and 80KB for HTTP POST requests

Answer: A

Explanation: 

With AWS CloudWatch, the user can publish data points for a metric that share not only the same time stamp, but also the same namespace and dimensions.
CloudWatch can accept multiple data points in the same PutMetricData call with the same time stamp. The only thing that the user needs to take care of is that the
size of a PutMetricData request is limited to 8KB for HTTP GET requests and 40KB for HTTP POST requests. 

NEW QUESTION 184
- (Topic 3)
A user is receiving a notification from the RDS DB whenever there is a change in the DB security group. The user does not want to receive these notifications for
only a month. Thus, he does not want to delete the notification. How can the user configure this? 
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A. Change the Disable button for notification to “Yes” in the RDS console
B. Set the send mail flag to false in the DB event notification console
C. The only option is to delete the notification from the console
D. Change the Enable button for notification to “No” in the RDS console

Answer: D

Explanation: 

Amazon RDS uses the Amazon Simple Notification Service to provide a notification when an Amazon RDS event occurs. Event notifications are sent to the
addresses that the user has provided while creating the subscription. The user can easily turn off the notification without deleting a subscription by setting the
Enabled radio button to No in the Amazon RDS console or by setting the Enabled parameter to false using the CLI or Amazon RDS API. 

NEW QUESTION 185
- (Topic 3)
A user runs the command “dd if=/dev/xvdf of=/dev/null bs=1M” on an EBS volume created from a snapshot and attached to a Linux instance. Which of the below
mentioned activities is the user performing with the step given above? 

A. Pre warming the EBS volume
B. Initiating the device to mount on the EBS volume
C. Formatting the volume
D. Copying the data from a snapshot to the device

Answer: A

Explanation: 

When the user creates an EBS volume and is trying to access it for the first time it will encounter reduced IOPS due to wiping or initiating of the block storage. To
avoid this as well as achieve the best performance it is required to pre warm the EBS volume. For a volume created from a snapshot and attached with a Linux
OS, the “dd” command pre warms the existing data on EBS and any restored snapshots of volumes that have been previously fully pre warmed. This command
maintains incremental snapshots; however, because this operation is read-only, it does not pre warm unused space that has never been written to on the original
volume. In the command “dd if=/dev/xvdf of=/dev/null bs=1M” , the parameter “if=input file” should be set to the drive that the user wishes to warm. The
“of=output file” parameter should be set to the Linux null virtual device, /dev/null. The “bs” parameter sets the block size of the read operation; for optimal
performance, this should be set to 1 MB. 

NEW QUESTION 186
- (Topic 3)
A user has launched an EC2 Windows instance from an instance store backed AMI. The user has also set the Instance initiated shutdown behavior to stop. What
will happen when the user shuts down the OS? 

A. It will not allow the user to shutdown the OS when the shutdown behaviour is set to Stop
B. It is not possible to set the termination behaviour to Stop for an Instance store backed AMI instance
C. The instance will stay running but the OS will be shutdown
D. The instance will be terminated

Answer: B

Explanation: 

When the EC2 instance is launched from an instance store backed AMI, it will not allow the user to configure the shutdown behaviour to “Stop”. It gives a warning
that the instance does not have the EBS root volume. 

NEW QUESTION 189
- (Topic 3)
A user has created a VPC with public and private subnets. The VPC has CIDR 20.0.0.0/16. The private subnet uses CIDR 20.0.1.0/24 and the public subnet uses
CIDR 20.0.0.0/24. The user is planning to host a web server in the public subnet (port 80. and a DB server in the private subnet (port 3306.. The user is configuring
a security group of the NAT instance. Which of the below mentioned entries is not required for the NAT security group? 

A. For Inbound allow Source: 20.0.1.0/24 on port 80
B. For Outbound allow Destination: 0.0.0.0/0 on port 80
C. For Inbound allow Source: 20.0.0.0/24 on port 80
D. For Outbound allow Destination: 0.0.0.0/0 on port 443

Answer: C

Explanation: 

A user can create a subnet with VPC and launch instances inside that subnet. If the user has created a public private subnet to host the web server and DB server
respectively, the user should configure that the instances in the private subnet can connect to the internet using the NAT instances. The user should first configure
that NAT can receive traffic on ports 80 and 443 from the private subnet. Thus, allow ports 80 and 443 in Inbound for the private subnet 20.0.1.0/24. Now to route
this traffic to the internet configure ports 80 and Amazon AWS-SysOps : Practice Test
443 in Outbound with destination 0.0.0.0/0. The NAT should not have an entry for the public subnet CIDR. 

NEW QUESTION 190
- (Topic 3)
A user has launched an EC2 instance. However, due to some reason the instance was terminated. If the user wants to find out the reason for termination, where
can he find the details? 

A. It is not possible to find the details after the instance is terminated
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B. The user can get information from the AWS console, by checking the Instance description under the State transition reason label
C. The user can get information from the AWS console, by checking the Instance description under the Instance Status Change reason label
D. The user can get information from the AWS console, by checking the Instance description under the Instance Termination reason label

Answer: D

Explanation: 

An EC2 instance, once terminated, may be available in the AWS console for a while after termination. The user can find the details about the termination from the
description tab under the label State transition reason. If the instance is still running, there will be no reason listed. If the user has explicitly stopped or terminated
the instance, the reason will be “User initiated shutdown”. 

NEW QUESTION 192
- (Topic 3)
A user has configured ELB with Auto Scaling. The user suspended the Auto Scaling AddToLoadBalancer
(which adds instances to the load balancer. process for a while. What will happen to the instances launched during the suspension period? 

A. The instances will not be registered with ELB and the user has to manually register when the process is resumed
B. The instances will be registered with ELB only once the process has resumed
C. Auto Scaling will not launch the instance during this period due to process suspension
D. It is not possible to suspend only the AddToLoadBalancer process

Answer: A

Explanation: 

Auto Scaling performs various processes, such as Launch, Terminate, add to Load Balancer etc. The user can also suspend the individual process. The
AddToLoadBalancer process type adds instances to the load balancer when the instances are launched. If this process is suspended, Auto Scaling will launch the
instances but will not add them to the load balancer. When the user resumes this process, Auto Scaling will resume adding new instances launched after
resumption to the load balancer. However, it will not add running instances that were launched while the process was suspended; those instances must be added
manually. 

NEW QUESTION 196
- (Topic 3)
How can software determine the public and private IP addresses of the Amazon EC2 instance that it is running on? 

A. Query the local instance metadat
B. Query the appropriate Amazon CloudWatch metri
C. Query the local instance userdat
D. Use ipconfig or ifconfig comman

Answer: B

NEW QUESTION 200
- (Topic 3)
A user has configured ELB with SSL using a security policy for secure negotiation between the client and load balancer. Which of the below mentioned SSL
protocols is not supported by the security policy? 

A. TLS 1.3
B. TLS 1.2
C. SSL 2.0
D. SSL 3.0

Answer: A

Explanation: 

Elastic Load Balancing uses a Secure Socket Layer (SSL. negotiation configuration which is known as a Security Policy. It is used to negotiate the SSL
connections between a client and the load balancer. Elastic Load Balancing supports the following versions of the SSL protocol: TLS 1.2 TLS 1.1 TLS 1.0 SSL 3.0
SSL 2.0 

NEW QUESTION 203
- (Topic 3)
A user has configured an SSL listener at ELB as well as on the back-end instances. Which of the below
mentioned statements helps the user understand ELB traffic handling with respect to the SSL listener? 

A. It is not possible to have the SSL listener both at ELB and back-end instances
B. ELB will modify headers to add requestor details
C. ELB will intercept the request to add the cookie details if sticky session is enabled
D. ELB will not modify the headers

Answer: D

Explanation: 

When the user has configured Transmission Control Protocol (TCP. or Secure Sockets Layer (SSL. for both front-end and back-end connections of the Elastic
Load Balancer, the load balancer forwards the request to the back-end instances without modifying the request headers unless the proxy header is enabled. SSL
does not support sticky sessions. If the user has enabled a proxy protocol it adds the source and destination IP to the header. 
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NEW QUESTION 205
- (Topic 3)
A user is trying to launch an EBS backed EC2 instance under free usage. The user wants to achieve
encryption of the EBS volume. How can the user encrypt the data at rest? 

A. Use AWS EBS encryption to encrypt the data at rest
B. The user cannot use EBS encryption and has to encrypt the data manually or using a third party tool
C. The user has to select the encryption enabled flag while launching the EC2 instance
D. Encryption of volume is not available as a part of the free usage tier

Answer: B

Explanation: 

AWS EBS supports encryption of the volume while creating new volumes. It supports encryption of the data at rest, the I/O as well as all the snapshots of the EBS
volume. The EBS supports encryption for the selected instance type and the newer generation instances, such as m3, c3, cr1, r3, g2. It is not supported with a
micro instance. 

NEW QUESTION 207
- (Topic 3)
A storage admin wants to encrypt all the objects stored in S3 using server side encryption. The user does not want to use the AES 256 encryption key provided by
S3. How can the user achieve this? 

A. The admin should upload his secret key to the AWS console and let S3 decrypt the objects
B. The admin should use CLI or API to upload the encryption key to the S3 bucke
C. When making a call to the S3 API mention the encryption key URL in each request
D. S3 does not support client supplied encryption keys for server side encryption
E. The admin should send the keys and encryption algorithm with each API call

Answer: D

Explanation: 

AWS S3 supports client side or server side encryption to encrypt all data at rest. The server side encryption can either have the S3 supplied AES-256 encryption
key or the user can send the key along with each API callto supply his own encryption key. Amazon S3 never stores the user’s encryption key. The user has to
supply it for each encryption or decryption call. 

NEW QUESTION 209
- (Topic 3)
A .NET application that you manage is running in Elastic Beanstalk. Your developers tell you they will need access to application log files to debug issues that
arise. The infrastructure will scale up and down.
How can you ensure the developers will be able to access only the log files? 

A. Access the log files directly from Elastic Beanstalk
B. Enable log file rotation to S3 within the Elastic Beanstalk configuration
C. Ask your developers to enable log file rotation in the applications web.config file
D. Connect to each Instance launched by Elastic Beanstalk and create a Windows Scheduled task to rotate the log files to S3.

Answer: D

Explanation: 
 Reference:
http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/using-features.loggingS3.title.html 

NEW QUESTION 214
- (Topic 3)
A user is using the AWS EC2. The user wants to make so that when there is an issue in the EC2 server, such as instance status failed, it should start a new
instance in the user’s private cloud. Which AWS service helps to achieve this automation? 

A. AWS CloudWatch + Cloudformation
B. AWS CloudWatch + AWS AutoScaling + AWS ELB
C. AWS CloudWatch + AWS VPC
D. AWS CloudWatch + AWS SNS

Answer: D

Explanation: 

Amazon SNS can deliver notifications by SMS text message or email to the Amazon Simple Queue Service (SQS. queues or to any HTTP endpoint. The user can
configure a web service (HTTP End point. in his data centre which receives data and launches an instance in the private cloud. The user should configure the
CloudWatch alarm to send a notification to SNS when the “StatusCheckFailed” metric is true for the EC2 instance. The SNS topic can be configured to send a
notification to the user’s HTTP end point which launches an instance in the private cloud. 

NEW QUESTION 218
- (Topic 3)
A user has launched an EBS backed instance with EC2-Classic. The user stops and starts the instance. Which of the below mentioned statements is not true with
respect to the stop/start action? 

A. The instance gets new private and public IP addresses

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full AWS-SysOps dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/AWS-SysOps-exam-dumps.html (256 New Questions)

B. The volume is preserved
C. The Elastic IP remains associated with the instance
D. The instance may run on a anew host computer

Answer: C

Explanation: 

A user can always stop/start an EBS backed EC2 instance. When the user stops the instance, it first enters the stopping state, and then the stopped state. AWS
does not charge the running cost but charges only for the EBS storage cost. If the instance is running in EC2-Classic, it receives a new private IP address; as the
Elastic IP address (EIP. associated with the instance is no longer associated with that instance. 

NEW QUESTION 222
- (Topic 3)
A sysadmin has created the below mentioned policy on an S3 bucket named cloudacademy. What does this policy define?
"Statement": [{
"Sid": "Stmt1388811069831",
"Effect": "Allow",
"Principal": { "AWS": "*"},
"Action": [ "s3:GetObjectAcl", "s3:ListBucket"],
"Resource": [ "arn:aws:s3:::cloudacademy]
}] 

A. It will make the cloudacademy bucket as well as all its objects as public
B. It will allow everyone to view the ACL of the bucket
C. It will give an error as no object is defined as part of the policy while the action defines the rule about the object
D. It will make the cloudacademy bucket as public

Answer: D

Explanation: 

A sysadmin can grant permission to the S3 objects or the buckets to any user or make objects public using the bucket policy and user policy. Both use the JSON-
based access policy language. Generally if the user is defining the ACL on the bucket, the objects in the bucket do not inherit it and vice a versa. The bucket policy
can be defined at the bucket level which allows the objects as well as the bucket to be public with a single policy applied to that bucket. In the sample policy the
action says “S3:ListBucket” for effect Allow on
Resource arn:aws:s3:::cloudacademy. This will make the cloudacademy bucket public.
"Statement": [{
"Sid": "Stmt1388811069831",
"Effect": "Allow",
"Principal": { "AWS": "*" },
"Action": [ "s3:GetObjectAcl", "s3:ListBucket"],
"Resource": [ "arn:aws:s3:::cloudacademy]
}] 

NEW QUESTION 226
- (Topic 3)
A user is displaying the CPU utilization, and Network in and Network out CloudWatch metrics data of a single instance on the same graph. The graph uses one Y-
axis for CPU utilization and Network in and another Y-axis for Network out. Since Network in is too high, the CPU utilization data is not visible clearly on graph to
the user. How can the data be viewed better on the same graph? 

A. It is not possible to show multiple metrics with the different units on the same graph
B. Add a third Y-axis with the console to show all the data in proportion
C. Change the axis of Network by using the Switch command from the graph
D. Change the units of CPU utilization so it can be shown in proportion with Network

Answer: C

Explanation: 

Amazon CloudWatch provides the functionality to graph the metric data generated either by the AWS services or the custom metric to make it easier for the user to
analyse. It is possible to show the multiple metrics with different units on the same graph. If the graph is not plotted properly due to a difference in the unit data
over two metrics, the user can change the Y-axis of one of the graph by selecting that graph and clicking on the Switch option. 

NEW QUESTION 227
- (Topic 3)
A user has enabled termination protection on an EC2 instance. The user has also set Instance initiated
shutdown behaviour to terminate. When the user shuts down the instance from the OS, what will happen? 

A. The OS will shutdown but the instance will not be terminated due to protection
B. It will terminate the instance
C. It will not allow the user to shutdown the instance from the OS
D. It is not possible to set the termination protection when an Instance initiated shutdown is set to Terminate

Answer: B

Explanation: 

It is always possible that someone can terminate an EC2 instance using the Amazon EC2 console, command line interface or API by mistake. If the admin wants
to prevent the instance from being accidentally terminated, he can enable termination protection for that instance. The user can also setup shutdown behaviour for
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an EBS backed instance to guide the instance on what should be done when he initiates shutdown from the OS using Instance initiated shutdown behaviour. If the
instance initiated behaviour is set to terminate and the user shuts off the OS even though termination protection is enabled, it will still terminate the instance. 

NEW QUESTION 231
- (Topic 3)
A user is trying to create a PIOPS EBS volume with 8 GB size and 200 IOPS. Will AWS create the volume? 

A. Yes, since the ratio between EBS and IOPS is less than 30
B. No, since the PIOPS and EBS size ratio is less than 30
C. No, the EBS size is less than 10 GB
D. Yes, since PIOPS is higher than 100

Answer: C

Explanation: 

A provisioned IOPS EBS volume can range in size from 10 GB to 1 TB and the user can provision up to 4000 IOPS per volume. The ratio of IOPS provisioned to
the volume size requested should be a maximum of 30; for example, a volume with 3000 IOPS must be at least 100 GB. 

NEW QUESTION 233
- (Topic 3)
A sys admin is using server side encryption with AWS S3. Which of the below mentioned statements helps the user understand the S3 encryption functionality? 

A. The server side encryption with the user supplied key works when versioning is enabled
B. The user can use the AWS console, SDK and APIs to encrypt or decrypt the content for server side encryption with the user supplied key
C. The user must send an AES-128 encrypted key
D. The user can upload his own encryption key to the S3 console

Answer: A

Explanation: 

AWS S3 supports client side or server side encryption to encrypt all data at rest. The server side encryption can either have the S3 supplied AES-256 encryption
key or the user can send the key along with each API call to supply his own encryption key. The encryption with the user supplied key (SSE-C. does not work with
the AWS console. The S3 does not store the keys and the user has to send a key with each request. The SSE-C works when the user has enabled versioning. 

NEW QUESTION 234
- (Topic 3)
An organization has setup multiple IAM users. The organization wants that each IAM user accesses the IAM console only within the organization and not from
outside. How can it achieve this? 

A. Create an IAM policy with the security group and use that security group for AWS console login
B. Create an IAM policy with a condition which denies access when the IP address range is not from the organization
C. Configure the EC2 instance security group which allows traffic only from the organization’s IP range
D. Create an IAM policy with VPC and allow a secure gateway between the organization and AWS Console

Answer: B

Explanation: 

AWS Identity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. The user
can add conditions as a part of the IAM policies. The condition can be set on AWS Tags, Time, and Client IP as well as on many other parameters. If the
organization wants the user to access only from a specific IP range, they should set an IAM policy condition which denies access when the IP is not in a certain
range. E.g. The sample policy given below denies all traffic when the IP is not in a certain range.
"Statement": [{
"Effect": "Deny",
"Action": "*",
"Resource": "*",
"Condition": {
"NotIpAddress": {
"aws:SourceIp": ["10.10.10.0/24", "20.20.30.0/24"]
}
}
}] 

NEW QUESTION 238
A user has deployed an application on his private cloud. The user is using his own monitoring tool. He wants to configure that whenever there is an error, the
monitoring tool should notify him via SMS. Which of the below mentioned AWS services will help in this scenario?

A. None because the user infrastructure is in the private cloud/
B. AWS SNS
C. AWS SES
D. AWS SMS

Answer: B

Explanation: 
Amazon Simple Notification Service (Amazon SNS. is a fast, flexible, and fully managed push messaging service. Amazon SNS can be used to make push
notifications to mobile
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devices. Amazon SNS can deliver notifications by SMS text message or email to the Amazon Simple Queue Service (SQS. queues or to any HTTP endpoint. In
this case user can use the SNS apis to send SMS. 

NEW QUESTION 240
A user is trying to setup a scheduled scaling activity using Auto Scaling. The user wants to setup the recurring schedule. Which of the below mentioned
parameters is not required in this case?

A. Maximum size
B. Auto Scaling group name
C. End time
D. Recurrence value

Answer: A

Explanation: 
Auto Scaling based on a schedule allows the user to scale the application in response to predictable load changes. The user can also configure the recurring
schedule action which will follow the Linux cron format. If the user is setting a recurring event, it is required that the user specifies the Recurrence value (in a cron
format., end time (not compulsory but recurrence will stop after this. and the Auto Scaling group for which the scaling activity is to be scheduled. 

NEW QUESTION 244
......
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